Phy 2A 5/22

Monday, May 22, 2017 8:59 AM

Goals for the Lecture:

1) Understand what Momentum is and why it is special (how is it similar to and different from
kinetic energy?)

2) Understand what Impulse is (how is it similar to and different from work?)

3) Be able to use the Impulse — Momentum Theorem to solve problems

From today's HW: #7

The distance required for a car to come to a stop will vary depending on how fast the car is moving.
Suppose a certain car traveling down the road at a speed of 20 m/s can come to a complete stop within
a distance of 80 m. Assuming the road conditions remain the same, what would be the stopping
distance required for the same car if it were moving at the following speeds?
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Three balls of equal mass are fired simultaneously with equal
speeds from the same height /» above the ground. Ball 1 is fired
straight up, ball 2 is fired straight down, and ball 3 is fired
horizontally. Rank in order from largest to smallest their speeds

V4 V, and V5 an instant before they hit the ground. (Neglect

friction.) Ball 1
1. vi>v,> v, Ball 3 0] >
2. V32 Vv,> v,
3. V22V >, Ball 2
4. v>v>y
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9. V27 V97 Vs Ball 2
4. v>v>v

5. vi=v,>v, h
1=V2=V3

7. Need to know height h
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